
    
:6Ln tf/ hfnL:6Ln tf/ hfnL:6Ln tf/ hfnL:6Ln tf/ hfnL    

cfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutf    
udL{ df};ddf em\ofn 9f]sf v'Nnf /fVbf ljleGg xflgsf/s sL/f km6of+u|fx? sf]7fleq kl; 

z/L/nfo{ v/fa ub{5g\ . cr]n s'g} klg 3/ a+unfx?sf] em\ofn 9f]sfdf ljleGg k|sf/sf hfnL sf7sf] 
k|mddf hf]8L em\ofn 9f]sfdf h8fg ul/Psf] kfOG5 . hfnL h8fg u/L /fv]sf 3/ a+unfsf] em\ofn 9f]sf 
aGb u/L /fVbf klg aflx/sf] :jR5 cfjf tyf pHofnf] k|fKt ug{ ;lsg] x'gfn] o;sf] a9L k|of]u ul/Psf] 
kfOG5 . o;af6 vf; u/L emL+uf / nfdv'§]nfO{ /f]Sg ;lsG5 . xfn;Dd ljleGg k|sf/sf hfnL ef/t tyf 
t];|f] d'n'saf6 cfoft u/L pknJw e}/x]sf] 5 . o; lsl;dsf] pBf]u clw/fHosf] s'g} klg :yfgdf 
;~rfng ePsf] v08df cfoft k|lt:yfkg / b]zsf] dfu k"/f ug{ ;lsg] x'Fgfn] k|:t't :sLd th'{df 
ul/Psf] 5 . 

 
k|ljlwk|ljlwk|ljlwk|ljlw    

/f]naf6 k|fKt :6Ln tf/nfO{ alag d]zLgsf] d2tn] alagdf el/G5 . :6Ln tf/ el/Psf] alagnfO{ 
lqmn :6o\f08df /fvL ljleGg ckm Sof/]h d]zLgåf/f jflk{Ë ul/G5 . jflk{Ë ul/Psf] :6Ln tf/nfO{ laddf 
;fl/G5 . ;f] el/Psf] ladsf] :6Ln tf/sf] 6'Kkf] Ps Ps u/L sf]sf s+uLsf] Kjfnaf6 l5/fO{ kfj/n'ddf 
h8fg ul/G5 . ;f] n'dsf] b'O{ 5]pdf h8fg u/L /fv]sf] ;6n 3/df :6Ln tf/ el//fv]sf] alag /fvL pQm 
n'd ljB't\zlQmsf] d2tn] rnfO{G5 . df]6/ rNg] ljlQs} n'ddf h8fg u/L /fv]sf] ;6nnfO{ Ps 5]paf6 
csf]{ 5]p;Dd k'¥ofO{ ;f] ;6ndf :6Ln tf/ e/L /fv]sf] alagn] :6Ln tf/ 5f]8L pQm ;6n Ps 5]paf6 
csf]{ 5]pdf k'Ug] ljlQms} n'ddf h8fg e{ /x]sf] x§fn] xfgL ;s]kl5 n'dsf] csf]{ 5]pdf uO{/x]sf] ;6n k'gM 
kmsL{ Pj+ k|sf/n] hfnL a'Gb} hfG5 . 
 
kl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emns    
1= kl/of]hgfsf] gfd M– :6Ln t/f hfnL 
2= pTkfbg Ifdtf M– !^ d];sf] &%)) dL6/, @) d];sf] ^))) dL6/ :6Ln tf/ hfnL, b}lgs * 306f, 

jflif{s #)) lbg . 
3= pTkfbg x'g j:t' M– #^ÚÚ rf}8fO{ :6Ln tf/ hfnL . 
4= sf/vfgf :yfkgf x'g ;Sg] :yfg M– gu/ If]qx? . 
5= s'n k"FhL nufgL 

s_ s'n l:y/ k"FhL 
v_ s'n rfn' k"FhL 

    
?=340000.- 
?=32000.-    

?=372000.-    

6= ljlQo ;+:yfgaf6 qm[0f ;x'lnot— 
s_ bL3{sfnLg C0f  
v_ cNksfnLg C0f  

 

?=255000.- 
?=16000.- 

?=271000.- 

7= d'gfkmfsf] k|ltzt– 
s_ s'n k"FhL nufgLdf 
v_ :jnfut nufgLdf 

 

28.94% 

77.08% 

 

8= a|]s Oeg KjfOG6 -kf/ ljGb'_ 
s_ k|ltztdf 
v_ d'Nodf 

 

54.53% 

?=153787.- 

 

9= d'gfkmf 
s_ s'n jflif{s pTkfbg lalqmaf6 
v_ s'n jflif{s pTkfbg vr{  

 

?=282000.- 
?=204145.- 

?=77855.- 

10= /f]huf/L 
s_ k|ToIf /f]huf/L  

 

9 hjfg 

 

 



 
 

l:sdl:sdl:sdl:sd    
l:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0f 
1= hUufM !÷$ /f]kgL, k|lt /f]kgL ?= #)))).–  ?=50000.- 

2= sf/vfgf 3/ 
s_ sf/vfgf 3/ 6x/f !*Ú X !@ÚÖ @!^ ju{ lkm6 
v_ uf]bfd 3/ !*Ú X !@Ú Ö @!^ ju{ lkm6 
u_ sfof{no (Ú X !@Ú Ö !)* ju{ lkm6 
   k|lt au{ lkm6 ?= @%).– 
3_ ljB'lts/0f # k|=z 

 

 

 

 

?=90000.- 
?=2700.- 

?=92700.- 
 

3= d]l;g cf}hf/ 
s_ $@ sf] x]eL 8o"6L kfj/ n'd, # c=z df]6/ ;lxt k"/f ;]6 @ 
b/ ?= ^)))).– 

v_ lad jflk{Ë d]zLg, :6o\fG8 / @ cZjzlQmsf] ljB't df]6/ 
;lxt k"/f ;]6 ! b/ ?=!%))) n] 

u_ alag jfOl8+u d]zLg ! c=z ljB't df]6/ ;lxt k"/f ;]6 ! 
b/ ?=!%))) 

3_ tof/L hfnL jfOl8Ë d]zLg ! xft] ;+rflnt b/ ?=$%)) 
ª_ !) l:k08n Ifdtfsf] k/g jfOl8+u d]zLg @ c=z ljB't 
df]t6/ ;lxt k"/f ;]t ! b/ ?=!@))) n] 

r_ !@ !$ sf] ;6n $ yfg b/ ?=^) n] 
5_ :6Ln /L8 * yfg b/ ?=*) n] 
h_ :6Ln lx8]N; ^ yfg b/ ?=$) n] 
em_ alag !%) yfg b/ ?=@ n] 
`_ k/g !%) yfg b/ ?=@ n] 
6_ /a/ /f]N; $ b/ ?=() n] 
7_ 9s t/fh" ;]6 ! 
8_ cGo cf}hf/x? 
9_ d]zLg 9'jfgL tyf e+;f/ # k|ltztn] 
0f_ d]zLg h8fg tyf ljB'lts/0f % k|ltztn] 
t_ ljljw 

 

 

?=120000.- 
 

?=15000.- 
 

?=15000.- 
?=4500.- 
 

?=12000.- 
?=240.- 
?=640.- 
?=240.- 
?=300.- 
?=300.- 
?=360.- 
?=300.- 
?=200.- 
?=5070.- 
?=8450. 
?=1400.- 

?=184000.- 

4= kmlg{r/ tyf lkmS;r/  ?=4000.- 

5= pBf]udf nufgL cl3sf] vr{  ?=4000.- 

6= pBf]u ;+rfng cl3sf] vr{  ?=5300.- 

s"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhL        ?=280000.?=280000.?=280000.?=280000.----    

         

rfn' k"FhL ljj/0frfn' k"FhL ljj/0frfn' k"FhL ljj/0frfn' k"FhL ljj/0f         

1= sRrfdfn df}hbft @% lbgsf] nflu ?=97500.-  

2= k|zf]wgdf /xg] # lbgsf] nflu ?=12240.-  

3= tof/L dfnsf] df}Hbft & lbgsf] nflu ?=28560.-  

4= pwf/f] ljqmL c;'ln !) lbgsf] nflu ?=40800.-  

5= k|zf;lgs vr{ ! dlxgfsf] nflu ?=6300.-  

s'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhL        ?=175400.?=175400.?=175400.?=175400.----    

6= s'n k"FhL nufgL 
s_ s'n l:y/ k"FhL 

 

?=280000.- 
?=455400.- 



v_ s'n rfn' k"FhL  ?=175400.- 

jflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vr{{{{   

1= Xf; s§L 
s_ sf/vfgf 3/ %Ü n] 
v_ d]lzg cf}hf/ !)Ü 
u_ kmlg{r/ tyf lkmS;r/ @)Ü 

 

?=7500.- 
?=11000.- 
?=1200.- 

?=19700.- 

2= aLdf -s'n l:y/ k"FhLdf hUufsf] d'No jfx]s_ !Ü  ?=2725.- 
3= Jofh -lb3{sfnLg qm[0f_ !&)))).– !^Ü   ?=27200.- 

4= ck|ToIf sd{rf/L vr{– 
s_ Joj:yfks ! dfl;s ?=@!)).– n] 
v_ n]vfkfn !, dfl;s ?= !*)).– n] 
u_ lkog tyf kfn] !, dfl;s ?=*%).– n] 

 

?=25200.- 
?=21600.- 
?=10200.- 

?=57000.- 
 

5= sfof{no tyf cGo vr{ 
s_ d;nGb 
v_ lj1fkg 
u_ eQf kl/jxg 
3_ cGo b:t'/ 
ª_ ljlj3 

 

?=3000.- 
?=1000.- 
?=4000.- 
?=2000.- 
?=2000.- 

?=12000.- 

6= n]vfkl/If0f vr{  ?=3875.- 

s'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ M        ?=122500.?=122500.?=122500.?=122500.----    

7= sRrfdfn 
s_ @^ u]h :6Ln tf/ !%))  lsnf] k|lt lsnf] ?= @@.– n] 
v_ @* u]h :6Ln tf/ !))) lsnf], k|lt lsnf] ?= @%.– n] 

 

?=480000.- 
?=160000.- 

?=840000.- 

8= k|ToIf sfdbf/ vr{ 
s_ bIf sfdbf/ !, dfl;s ?= !*)).– n] 
v_ cw{bIf sfdbf/ #, dfl;s ?= !%)).– n] 
u_ ;xfos sfdbf/ #, dfl;s ?= ()).– n] 

 

?=21600.- 
?=54000.- 
?=43200.- 

?=118800.- 
 

9= pTkfbg tyf cGo vr{ 
s_ OGwg 
v_ lu|h t]n df]ljn 
u_ dd{t ;+ef/ tyf hu]8f kf6{k"hf{ 
3_ ljljw 

 

?=2400.- 
?=3600.- 
?=12000.- 
?=2400.- 

?=20400.- 
 

10= Aofh cNksfnLg C0f ?= !))))) sf] !*Ü n]  ?=18000.- 

s'n rn vr{s'n rn vr{s'n rn vr{s'n rn vr{     ?=997200.- 

jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{  ?=1119700.- 

      

jflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgL    
s_ !^ d]; :6Ln tf/ hfnL &%)) ld6/ k|ltld6/ ?= @).– n] 
v_ @) d]; :6Ln tf/ hfnL ^))) ld6/ k|ltld6/ ?= @@.– n 

 

?=150000.- 
?=132000.- 

?=1227500.- 

d'gfkmfd'gfkmfd'gfkmfd'gfkmf    
s_ s'n jflif{s pTkfbgaf6 cfDbfgL 
v_ s'n jflif{s pTkfbg vr{  

 

?=282000.- 
?=204145.- 

?=77855.- 

d'gfkmfsfd'gfkmfsfd'gfkmfsfd'gfkmfsf] k|ltkmnM] k|ltkmnM] k|ltkmnM] k|ltkmnM      

s"n k"FhL nufgLdf 28.94%  

OSjL6L nufgLdf 77.08%  

 


